Fill in the blanks.

Lengkapkan petak kosong

1 120€-43 €=

2| 110 m€-59mé =

3 3£-45méE=

4 6€-2000méE=

5 3621 mE€-3€=

mé

mé

mé

Fill in the blanks.

Lengkapkan petak kosong

10

120mé -67 mé = mé
22124me-ssome=|__° mé
8£341 mé - 1€ 29mé £ mé
636€£-349¢€ = e
4£330mE-968 mE = € mé

1| 152¢- € |-96¢

2 -88E€=46¢

3 -95£8=69 ¢

4 833¢- £ |=646¢
5 mé |-184 mé =386 me

10

e mé |-6£914 me&=8¢200 mé
4£280meé -| ¢ me | =1¢€810 me
6£705me -| € mé | =2£320 me

e mé | -1£350 mE=3€520 mé

e mé | -4€30 me&=1€375 me




